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PART - A (General Intelligence & Reasoning)

QNo:1  Select the possible cubes that can be formed by folding the given sheet.
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QNo:2  What will be the next figure?
Question figure:

OO

Answer figure:

QNo:3  Apple, Banana, Carrot, Mango = which is the odd cne?

T, Shell, e, A - T4 & & 91 e g7
Mango

HH
Banana

Gl
Apple
Eic]

Q.No: 4 Read each scenario carefully, evaluate all options, identify the action that best navigates the various competing factors and values.
You're enjoying a casual evening gathering at a close friend's home. During the evening, your friend decides to put on a movie that
you immediately recognize as a pirated copy they downloaded illegally. Your friend excitedly asks you to help connect their laptop to
the TV, and everyone else at the gathering seems oblivious or unconcerned. You personally disapprove of piracy but don't want to
create an awkward situation or offend your friend.

U uikged & e @ ud, vt sl &1 geaish &Y, AR 39 rd i uge 1 ot i ufaeadi sret o geut @t aes
It AXg @ Heferd FaT 21

ATT 30 Geh Shifdl E1d & 8% U Uah HRTHEEe 21TH 2hl THT &1 378 of I8 61 TH & ST, AU &1 ek Tthed Tal- &l thadl &hedl §
fOre 3T gid U TS Sl & FU § UgaH oid & ford Sai oY U U STSeis fhdl §1 AU 3Id 3cTgUdeh SMUeh! 30+ oiueid
& &Il 9 SieA | Heg e o ol shgdl g, 3K 91 § aTehl 9T @i S-S a7 URdTg eifTd g | AT SAfeeiTd 9 & Ul o fadte s
g afer ue ol R e =1 o anga ar e 2 &6t et =1 & anga
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Publicly refuse to help and explain loudly to your friend and the group why piracy is wrong.

TrdeAE: =0 d Teg 3 @ 379K & of 907 & ofk Tg & IR & aasne & urat e =4t 81

atch the movie, but later, report your friend to copyright authorities

T d, olg H,

Discreetly excuse yourself from participating in the setup or watching the movie, perhaps by saying you need to make a call or step
outside for a moment.

ferdenynl a¥ich & Yooy d 9T o a1 fihed S 8 e @l 31eT 1 o, TS g chgdhe foh AU Geh Shidl el g d1 e &3 o folg Fee
AT &
Go along with it and help connect the laptop, avoiding any discomfort or confrontation.

Fch ATY Tt 31T SUCIT shriee el § Agg o, Tt ot Srgeiar a1 cadd 9 991

Q.No:5  What should come at the place of question figure?

Question figure:
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Answer figure:
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QNo: 6 What should be at the place of question mark?

Question Figure:

A.D.Q.@

Answer Figure:

O] 1O e
o O O

A B C D
ey g & wE U= @ g anige?
S T
A @ O e O O @
O
IR ITRfe:

QNo:7  What will be the next number in the series: 19, 37, 73, 145, ?

Sl H T 3k 1 ghm: 19, 37, 73, 1485, ?

QNo:8  Find the next number in the series: 2, 6, 12, 20, 30, ?
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el | FTell W1 A1 hIfSIg: 2, 6, 12, 20, 30, ?

‘ EE B

Q.No: 9 |Figure A and B are related in a particular manner. Establish the same relationship between figures C and D by choosing the figure
amongst these four options which would replace the question mark in figure D .

TR A 3R B U= fady 9fte @ 9efta §1 39 TR faoned! | & 98 emefa gaw amapfa ¢ ofk p & 9 aam dey wnfta fifSg 5 erefa

D ® g g & IE U |
s v — ]
| - ?
[ o z
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Q.No: 10 A shape is shown below, followed by four optiens. One of them is the correct mirror image of the shape. Choose the CORRECT option.

AN

Which of the following is the correct mirror image?

A gen arrepfal fewrs 7E 8, fSiaes are IR faeeu Ry 7g 81 37 @ gah arrgpfal o1 |t quur widfea 31 |l fEeheu 71
AN

Prafaf@a # & 1 a1 agt oo wfafee &2
AN

AN
AN

AH

H A
H A

QNo: 11 What will come in place of the question mark (?) in the following equation?
100+10-7+2x6=7?

e ot & yeemas [g (7) & A U &1 amg?
100+10-7+2x6=?
12

12
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Q.No: 12 | A figure consists of a square divided into 9 equal smaller squares (3x3), and 2 diagonals are drawn in the outer square. How many
triangles are there?

Uch MTepfd © Uah atf ¢ oI 9 SRR 81 avil (3x3) & fawifea fovan mar €, ofk sedt ovf & 2 foeeof &1 o &) 39 et Paw 7

20
20
16
16
24
24
28
28

Q.No: 13 Post: Content Head - EdTech Division Eligibility Criteria (as on 15-02-2025):
Master's in English/Linguistics/Education with minimum 68% marks.
Must have minimum 6 years of experience, with 3 years in academic content creation.
Should have managed a team of 5 or more members for at least 1 year.
Must have published at least 2 educational research articles in recognized journals.
Special Clause:
If candidate has only 1 research article, but has 8+ years of experience and holds an M.Ed. or B.Ed. degree, refer to Board of
Academic Excellence,
If academic marks are below 68%, but has 3+ research papers and training certifications, refer to Chief Editor.
Case:
Aditya has 66% in MA English, 9 years of experience (4 in content creation), led a team for 2 years, has 3 published academic
research papers, and holds a B.Ed. degree.
Question: What should be done in Aditya's case?

UE: thiE B8 - USe fadtar= ursar Ames (=i 15-02-2025 a):

TSl Arenfe /e 7 Areer (33 =gan 68% 3l & @)

TATT 6 T4 T I g1 T, S & 3 af arefies e Fmfo # g

A © &hH 1 FH o ol 5 a1 arfeies wewdl i € o1 Hare feraT gl

AT U gianelt # e & 2 e 20t o wenifaa e gh

sty ==:

g JiIeaR & UTH had 1 209 @ &, Al 8+ a6l T 3¥d & 31X 39 U UH.US. a1 9.4, & 21 g, 1 912 ot gohs i gaiieiy
Cagie]

e AP 3ieh 68% & FHH €, Tichd J¢ch UTH 3+ 20Te] UA i HIRNEI01 UHI0T U §, o §% Hulesh @f 9

A
e & O QLY. 3iTl & 66% ai g, 9 3¢ o1 orgyg (o & 4 g9 sde Fmfor & €), 2 o1w 9o & 1 g« T g, 39 o= 3
TR 37ehTg Heh SMTe UF &, 3flT 39 uTe 41.us. &l 22l +ff g1

wer: anfear & A § = v @ =nfge?

Reject the candidate

IR Ff RdIRR He
Refer to Chief Editor
HEA HUTaeh o ol |
Select the candidate

Ffiear &1 90 1)

Refer to Board of Academic Excellence
ReafiUreh JepEdl €13 &l A |

Q.No: 14  In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option fram the given alternatives.
15:8::31:7?

F=fofEa ves v § & O] &1 775 ¢ Wit Uh (5] aTfchas o1 SiepvTfTd g Hey &1 UTaH &ed! 61 39T Uer ol Ugai-g of ga oits #
T HEHT AT e o felg IHehT WAl SISy g Mg faeredt 4 4 gl faeey gy
15:8::31:7?
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Q.No:15  Which figure is different from others?

3 7] 6 B
a a 9 10 815, 3 7 L) ]
r | Bl7 L] 5 1j2 3
L E A B 5 NE
A B C o
T T 3fichal eI o e 5?7

=
@
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‘

Q.No: 16  How many triangles are there in the given figure.

¥

& 7 ampial # et By 82
SR AT

12
12
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Q.No: 17 Criteria to be selected as Librarian(as on 01-08-2023):
Must have a Bachelor's degree in Library Science (B.Lib.Sc) with at least 55% marks.
Age must be between 24 and 32 years.
Must have basic computer skills.
Must possess at least 1 year of experience in a library.
Special Clause:
If the candidate has no experience but has a Master's in Library Science with 60% marks, refer to Library Director.
Case:
Neelam is 27 years old, has completed B.Lib.Sc with 58%, holds a Master's in Library Science (62%) but has no experience. She is
computer literate.
Question: What should be done in Neelam's case?

st & wu # 999 & AEs (01-08-2023 aF):

AMEa T2 J T &t (32 (. o uedt) &8 @ 1 55% it & 91y g+ =1igql

g 24 9 32 99 & 9 g Tigw

OISl R i giAT A1eyl

el # A d A 1 99 &1 Hd g1 F1iggl

ICEILECER

g JfIeaR & U9 &g g 15! &, Tk 35 UTH 60% 3ieh] & T AZe A5d # Arex (3t 8, ot ameat Fers @ 90 &3
HIHHT:

e 27 9 1 g, S5 58% aiehl & a1y = fora gt gt 1 g, 3Tk U egel A1sy § AR {3 (62%) 8, ifch 39 &g argwd Agi
81 98 S HIER g1

s =i & A § = fokar S anga?

Select the candidate

FefiedR &7 90 &

Refer to Library Director
TATSa (g areh ¥ HUeh ah
Refer to HR

g Ta1eA fEunT & W &
Reject the candidate

FfieaR ! iR o1

QNo: 18 What will come at the place of question mark?

] A Y
X ! X
! X AXXRRY X 7
X X £
i X oA
w5 < T W =R arg?
) A ¥
: ! X
X X AXXKRY X 7
! X E
! X A

P> m X X c <
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Q.No: 19  In each of the following guestions, a specific relationship is given between two werds. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Knight : Armor :: Astronaut : ?

FrafafEa vl v & g 2l & offa ges faftre g=w fear man &1 39 rsg 6 uga= fIfSw 5t Ry 7o gm & gy gam o e aren
&l g1 A f4U U AR faskedt § @ g9€ 3uged fasheu 9yl
A1ge : &had 1 HaRkar g ; ?

Jetpack

Sets

R
Shuttle

T

Oxygen Tank

e &5

Q.No:20  Find the next term in the given series. 34, 6C, 13F, 28, ?

& 77 sjrgeT 7 aFTel Ug Wi TGl 34, 6¢, 13F, 28, ?

Q.No: 21 At a banguet, every 2 people shared a cake, every 6 people shared a bowl of soup, and every 8 people shared a platter of fruit. There
were a total of 42 items. How many people were present at the banquet?
Qe Hlat d, 8% 2 77 A Uek Sheh, 8 6 ST - Ueh YU T HeRT 312 8 8 Tl A Ueh Thel <l UTell TSN A1 et 42 313cH &) il H fha
A1 Fior @7
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Q.No:22  Post: Security Guard
Eligibility Criteria (as on 01-06-2025):
Must be between 25 and 35 years of age.
Must have passed 10th standard.
Must be physically fit and have no criminal record.
Case:
Suresh is 29 years old, has passed Class 10, is physically fit, and has no police record.
What should be done in Suresh’s case?

Ug: HRAM S

AT ATES (01-06-2025 A%R):

3R] 25 9 35 99 & off= gt =gyl

104t e 3ol g g

AR ®U F W g1 F1gY HR iE muxifdes Repld 8T g =nfgul

HATHHT:

TR 29 99 1 g, 39 10 e Il i &, aiRE w0 @ @ § ok Sua FiE g Reig a8t 81
g1 & At § 7 fehgr S =gy ?

Refer to Police Verification
o T &
Data incomplete

Era g b
Select the candidate

Inflear &1 909 =

Reject the candidate
InileaR &t AR &

Q.No: 23 In each of the following questions, two numbers are given which follow a certain logical or arithmetic relationship. ldentify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
51728 : 73940 :: 38641 : 7

FrfafEd wde usy & & gwd &1 773 § it Uk (i) arfdher a1 siepifidta deiy &1 ure &edi 81 3¢t Oet ol uganig ofk g &g #
T TEHT AT e oh [old IHeT JaiT shifog | feg Mo faeedt & & 9t famed g1
51728 : 73940 :: 38641 : ?

59853

59853
50862

50862
60974

60974

Q.No:24  Choose the CORRECT option.

Address 1: Mr. Rohit Sharma, 123/4, Rose Villa, Green Park, Delhi - 110016
Address 2: Mr. R. Sharma, 123-A, Rose Villa, Green Park, New Delhi - 110016
Are the two addresses likely to refer to the same person?

gl fashey I

uar 1: =it AT e, 123 /g, It e, 9 urehs, feedt - 110016
uar 2: oft amR. amf, 123-v, 39 f&e, = ik, =2 feeft - 110016
T 41 Ut U gt e &t defiia & €7

Mo, the cities are different

g1, BT AT &

Mo, the names are different

g, A9 AT &
Mo, the house numbers don't match

81, O¥ & F=¢ AT g T

es, both addresses are the sam
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QNo:25  What will come at the place of question mark?

Sk

U O & TIH R a1 Ag?

Sk

KO

OIS
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Q.No: 26 Read the information carefully and identify the correct relationship between the persons mentioned in the question.
Rita is the mother of Deepa.
Deepa is the sister of Aman.
Aman is the father of Kabir.
Question: How is Rita related to Kabir?

&l 1 ST @l wydes ug ok us 7 sfef@y safaerdl & dta wdt ddy ugar

ar, € & ot 1

&, e &y 98 21

A, SR T T 21

uar: I91, w4 e ver g9afaa &7
Aunt
I
Sister

Maother
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Q.No: 27

32

32
34

34
36

36
30

30

247 Eonle Play

If + means +, + means -, - means +, and x means % then,
what is (200 + 50 - 10) x 5 + 257

afe + &1 ardf +, = a1 1Y -, - a1 a1ef + afR x w1 aref < §, 4
(200 + 50 - 10) x 5 + 25 T 27

Q.No: 28

How many dots lie opposite to the face having five dots, when the given figure is folded to form a cube?

(1)
08
Ol
ol i
L
I
T &Y TS AR il Aigehe O S ST &, 91 Ui figad aet weres & fardia fem Rig gt €2
(1)
08
sl s
% :f
L]
I

u 2 X = M 0
oD s U2
M 3T a2 o X ?
4/ ° z " A/
A X M u 4 z

u 2 X O M O
o /0 I /O u 2
M a2 o, X ?
i z e e
A X M u 4 z
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Q.No: 30 In each of the following questions, a number series is given. In each series, only one number is incorrect. Identify the wrong number.

1, 4,9, 16, 26, 36.

Aol ude Uy d Uah G oaell €1 713 81 Ucddh el # Shadl Ueh ST 7Teid ¢ | TTo7d 9&d1 ugHn-gl 1, 4, 9, 16, 26, 36.
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Q.No: 31 Criteria to be selected as Assistant Teacher
Eligibility Criteria (as on 31-03-2024):
Must have a B.Ed. degree with minimum 50% marks.
Age must be between 25 and 35 years.
Must have 2 years teaching experience.
Must be willing to work in rural schools.
Special Rule:
If candidate has 1 year teaching experience but a Master's in Education, refer to Vice Principal.
Case:
Sonal is 28 years old with a B.Ed. (55%), a Master's in Education, and 1 year experience. She agrees to work in rural areas.
What should be done in Sonal’s case?

wera fRiers & wu § 99 gq AeE

T AFES (31-03-2024 6):

=gAaA 50% 3wl & Ty &t gs. & St gt Ifegnl

&g 25 § 35 99 & off= g arfggl

2 g & fRI&70T rE BT 91ie )

Trfior feenert 1§ e e & oY g g1 Tfeql

o o

e Iefiear & U 1 a6 o fRIST0r ST 8, difh fRieT & Siaeir 8, af Su-"eEe € 9 &l
AT

e 28 a9 & § ofi 30 U™ 91.U8. (55%), e # Sy 3R 1 3w &1 orgvd g1 98 TR &1 § & S & forg 9gad g
e & A9 § 41 foean i1 =nige?

Reject the candidate

InfleaR &l adihR &

Refer to Vice Principal

30 AUHERE & 9ud i

Case cannot be considered
Aol U= faam A1 foram o gahan

Select the candidate

Fnflear o1 =T

Q.No: 32 If a dice has numbers 1 to 6 on its faces and face 1 is opposite to 6, 3 is opposite to 4, then what will be the number on the face
opposite to the face showing '2'?

AR UG U & el U 1 T 6 deh &l G0 g R eteh 1, 6 & Audia 2, 3, 4 & fAudia g, ot '2' 221F a1e wetes & fAudia heres =
T T ghit?

‘

QNo:33 3,7,11,15,19, 22 - which is the odd one out?
3,7,11,15,19, 22 - g8 @ a1 faum g2

N |
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Q.No: 34 In each of the following questions, a specific pattern is followed for both the letters and the numbers. Identify the set of numbers that
correctly fills the blanks in the given sequence. C, 6, F, 24, 1,54, L __,0, __, R 216, U, 294, X, 384

F=fefeT s w8, ererdl aft dwmar gl & fog o fafde e fear mn g1 feg o & o e et &t ol &1 9 o aret denalt
& THg I TgaIHy|
C,6,F 24,154, L, ,0,__ ,R 216, U, 294, X, 384

(90, 145)

(90, 145)
(132, 210)

(132, 210)
(140, 220)

(140, 220)
(96, 150)

(96, 150)

Q.No: 35 | Ameng the given figures, identify the one that does not belong to the group based on the pattern.

Z Y A L

A B C D

&1 71g anepfaat # @ 39 anrepld &t ugHiiAg i ded <& snur iR 3Hg 9 =9 A6 8

QNo:36  Complete the analogy: CAB : EDC :: ONM : ?

TG QR Y CAB @ EDC 2 ONM : ?

TSR
QFO

QPO
RQP
RQP
Q0N
QON
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Q.No: 37 Read the situation and choose the best judgment:
You've just finished eating at a busy restaurant and pay for your meal with cash. As the server hands you the change, you notice they
have mistakenly given you significantly more money back than you were owed. The server seems overwhelmed and rushes to attend
to another table.

ot ot gu=t ofik 999 ar=st fAvfg T4:

e arfi-arft ges sod Wee ® @1 @ § 3R Tohe WA fhaT 81 91 g1 TER MU JehTl O &dT 8, 1Y & @ foh Sei ol §
TR FeRTaT AT A gl Tarel T8 arod = QU &1 9k Igd TR o7IaT ¢ IR Sieal § gHel & U =Iell Wil g1

usi: 39 A A, B=feif@a A @ o a1 g8 Afds ok fasermT &en g2

olitely get the server's attention, point out the mistake, and return the excess change

FT A : Iy, 2
Quietly leave the exact amount of the overpayment on the table as an extra tip.

e T &t Tt AR guag A 0R S1faied iy & w0 & 218

Announce loudly that the server made a mistake with your change, so others are aware.

TR T 19U & o T 7 TS Seaid | TeAd! hi g, d1feh 970 AT W dhl

Discreetly put the extra change in your pocket and leave, assuming it's the restaurant's mistake.

FEYTT @ Afafed 04 u-T oig & @ 3R I A 9¢f oY foh a8 i & Terd! el

Q.No: 38  In this figure, how many squares are there?

=9 argfa # fraa ot &2

Q.No:39  Which word is different from the rest?

hi T 27 JTehl § T 87


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 40 In each of the following guestions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Fire : Heat :: Friction: ?
FrafafEa v vy | & a=el & o U fAfRe d=y & mar &1 39 areg 61 ugee SIfe o g e g & ary I o dey aren
&l g1 A 16U v AR faehedl & 4 99€ 3uged fAeu 9l
QI : BT 1 HeT ;2

Temperature

GICEIE]

Burn

eTT
Energy

Sl

QNo:41  IfAa:300:7

HNA:3 O ?

Q.No: 42 In the given sequence what is the missing shape?

feu Ty argere & e anepfa &1 4 87
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Q.No: 43 ' In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. |dentify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option fram the given alternatives.
25:30::36:7?

FA=fefEd wdss wa § & geed €1 775 & Wit Ueh (HfS)d arfdhes o1 siepifrdty deiy &1 ute sedl g1 34! Ge ol uganig ofik g wig &
T HE=HT AT e o felg IheT waiT SISy g 1y faeedt # 4 gdl faeey gy
25:30::36:7
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QNo:d44 [fi2x3=134x5=416x7=7
AM2x3=13,4x5=41,6x7=7

Q.No:45  Choose the figure which is different from the rest?

T SMTpid T ot ehl § T 87
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Q.No: 46 In each of the following guestions, a specific relationship is given between two words. |dentify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option frem the four choices given below.
Theory : Practice :: Hypothesis : ?

FrfalEa W mel | & asal & ofid Qe fafRe d=e @ mar &1 39 areg 61 ugaH Sifog o [ 7g g & 91y 99 ek Fee i
T g1 A U U 9R fosmedt # @ 998 Iuged faeen 9l
fagE : oo uRereumr 2 ?

EERICS

Result

afom

Experiment

AT

Proof
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Hed

QNo:47 Ifdx+5y=33and 3x- 2y =14 whatis x - y?
afdx+Sy=33 3R 3x-2y =14 x- y T E?

‘

Q.No: 48 Address A: Riya Kapoor, 7/2, Lake View Road, Kolkata = 700029
Address B: R. Kapoor, 7/2A, Lake View Rd, Kolkata - 700029
wWhat is the most significant difference between the two addresses?

uar A: R gy, 7/2, ok =g A3, Sierehrdl - 700029
UdT B: 81, &Y, 7/2A, vk & U8, dictarral - 700029
SIT Ul o <t T Ageyut o) 3T 82

Different road

SEUECAGEAGEDN
Different surname

STl JUATH
Different city

HAT A

Q.No: 49 An unfolded box (cube or cuboid) appeared as shown in the figure, when sheet is folded to form a box. find the number on the face
opposite to 5.

1
23
4

53‘

1 3ffe St ArSs STe I=TaT 9T & ot Yeh gell diad (999 O1 9919) affdhia # feamy orgar fewats €a1 81 5 & faudid weie e 9w 1
Gl

Q.No: 50 A squash championship has 111 participants. In a knockout format, what is the total number of matches played?

Qe W Sg=iag & 111 ufawef €1 Alewanae ured 3, Qel o7 aret 34 61 e St farail 82
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110

110
109

109
11

111
112

112

PART - B (General Awareness)

QNo: 51 | Which Indian woman was the pioneer in winning a silver medal at the Olympic Games?

Jcifte @al # T97d Ugeh it drell Ugel! MR Afgal Eemgt @i off?
Saina Nehwal

AT Agdrel

Karnam Malleswari

U Ao
Mary Kom

b= ri k-

P.V. Sindhu

. . Ry
NetAmwerd

Q.No: 52  Match the columns:

Column A (Land-Use Category) Column B (Description - Shuffled)
-
A. Miscellaneous Tree Crops & Groves | 1. Land left fallow for more than 1 year but less than 5 years

B. Culturable Wasteland 2. Privately owned land under orchards and fruit trees

C. Current Fallow 3. Land left uncultivated for over 5 years

D. Fallow other than Current Fallow 4. Land left fallow for one or less than one year

wivil v e =%
'ma{a@-maum v B (e - eaes)
A. fafar g8 vt ok U 1.1 99 @ it e 5 99 & 9 gaa & FIg dor S TS o
E'B_@mmmﬁm mz.anﬁammﬁa;aﬁanﬁﬁaﬁaﬁam@
Caﬁqﬁm@ .-.3.531##&%%3%%@?&#@1@%%1&

D. A O fA & ST SFF AR U | ) v onf oy vt 37 T 5 Fovg o B 7S
A-2, B-3, C-4, D-1

A-2, B-3, c-4, D-1
A-3,B-2,C-1,D-4

A-3,B-2,C-1,D-4
A-1,B-4, c-2, D-3

A-1,B-4, C-2, D-3
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A-4,B-1, C-3,D-2
A-4,B-1, C-3,D-2

Q.No: 53 Which of the following factors contributes to the low child sex ratio in some economically developed Northern states of India?

1) Increased accessibility to prenatal sex-determination methods

2) High levels of female literacy and empowerment

3) societal preference for male children in inheritance and family support
4) strengthened enforcement of gender-equal policies

fFrafefed § O o @1 wRe 9Rd & $9 onfde wu 4 fesfaa 38 ual & & 1« foi srgura # aheH gar &2

1) S=gd feimr FraiRor fafddl o uge A gig
2) afgen e iR gfaasIu &l 39 TR
3) favraa ofik uiRaTies wgrdn & qou g=3i & foig |mfera adgar
4) feim-gwm Hifdat &1 gge wadq
2and3
233
2and 4

23R4
1and3

1afR 3
1and 4

1 3R 4

Q.No: 54  Sattriya, one of the classical dances of India, was introduced by which saint?

YRA & AR i d 4 afear 9 i yeand i Ta A & o2
Sankardev
iehved
Chaitanya Mahaprabhu

=T HBIUY
Kabir

ETind

Tulsidas

[

QNo: 55 How did India’s trade policy reforms post-1991 impact the import of capital goods?

1991 & 91 WRd & AUR Hifd GURT & Yol g ol & A1ard ot fhd UahR uHifed fean?

inked capital imports only to fareign companie:

Reduced tariffs and removed licensing

s 9 o e Ty ofik esgfdm ger & e

Imposed import quotas on machinery

F2f UR SR ahieT @A Tl
Banned all capital imports

oft YoinTa STt uR nfaee @ g T

QNo:56  Who was the first woman to be the president of the Indian National Congress?

T Tt i ) arene T et Ugel Afgen @ off?
Kasturba Gandhi

e el
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Kamala Mehru

AT 5=

Sarojini Naidu

Ao Aag

QNo:57  Which of the following is a benefit of measuring happiness in a country?

FfaRed 3 € wt-a fadt da & g’ a1 &1 e a4 82

Tracking crime rates

AURTY 2X i TR

Improving economic statistics only

had el arishsl # gUR

nderstanding citizens’ mental and emotional well-bein

FEEICEIGC
Predicting election results

419 ufvorst S wfasgarft

Q.No: 58 In which year did Toni Morrison become the first African-American woman to win the Nobel Prize in Literature?
S AR g adl aifeey & Hiee UrehRr Sitas arell ugelt sithichl-smRedT afgen =+i?
1991

1991
1995

1995
1993

1993
1987

1987

Q.No: 59 Accarding to Section 21 of the Bharatiya Nagarik Suraksha Sanhita, 2023, which of the following statements is correct regarding the
trial of offences under Sections 64 to 71 of the Bharatiya Nyaya Sanhita, 20237

HREATY AR GRaT HigdT, 2023 61 9RT 21 & AR, YR =1 Higd1, 2023 & 9R1 64 & 71 & dgd AT & udarvn & dau §
feafefEad A sy wdt 827

The trial must be conducted by any police officer of the rank of DSP and above.

HeheHT ST T1 ITE HUL & e o fopet ot gferd siffanrdl g1 Freman @ =gyl

These offences must be tried only in a High Court under a male judge.

3 STURTH hl GAaTE chaw o =adTerd | qow grardtar & arefi= g &l et 3yl

Such offences are exclusively triable by Executive Magistrates.

UF syt o1 gdiern fad wu & sriureiess AfGEie gRT fRar o "adl 21

These offences shall, as far as practicable, be tried by a court presided over by a woman.

3 STURTHl <kl GAdTS, Sigh deh T g1, Al <l STeH&Td] diell 3A&Teld ZIT hl SIgt|
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Q.No: 60 ' Match the column:

Column A (Status Category) = Column B (Public Sector Enterprise)

A. Maharatna 1. Mahanagar Telephone Nigam Limited
B. Navratna 2. Indian Railway Catering and Tourism Corporation
C. Miniratna 3. steel Authority of India Limited
w9 &1 Ao &%
wie A (A gioft)  =wiew B (wrdwifaer & 3em)
A TERSA 1. HgI TR ¢t fmm fofacs
B TaR=T 2. YR ¥oid WU ud ude g
c. Bt 3. il JYIRET Stk Sfzar fafads
A-1,B-2,C-3
A-1,B-2,C-3
A=2,B=3, C-1
A=2,B=3, C-1
A-3, B-1, C-/
A=1,B=3, C-2
A-1,B-3,C-2

QNo:61  Bihu is a folk music and dance form associated with which Indian state?

farg it rite ofiT 77 &1 URURS: U YR & fohd 390 & 31 g 87
Kerala

EXGH

Gujarat

‘

Punjab

Q.No:62 | What is used to measure the health dimension in HDI?
Ag fae Yahic d W ST 6 A1+ o forg fhar sughT fosar s 87
Life expectancy at birth

ST UR Sia e
Infant mortality rate

R g =

Access to clean water
W@ o deh Ugd
Mutritional status

TSR dedl &l WX

Q.No: 63  Bihu, the festival of Assam, is celebrated to mark:

HEH H JA11 W arerl fog ud fhE sger W amgiterd e s @2
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The winter solstice
afta e (feex giegersg)
The new harvest

A2 el I WRTd

The victory of good over evil
=TS o gurs IR A

The end of the monsoon

YA & g

Q.No: 64  Where was the National Cadets Judo Championships 2024-25 held?

T A3 oS ARTARNT 2024-25 Tt Ao
Odisha

affsar
Delhi

fewedt

Maharashtra

HeRTE

Goa

‘

Q.No: 65 Read the following statements carefully:
Statement I: A pressure cooker operates by decreasing the pressure inside, which lowers the boiling point of water.
Statement |1: Food cooks faster in a pressure cooker because the higher pressure allows water to boil at a temperature above 100°C.
Statement lll: The superheated steam within the cooker increases the rate of heat transfer to the food, leading to faster cooking.
Which of the statements given above is/are correct?

FrefefEa syt &t argds ug:

YA |: TR Feh 3ET & &1 hl HH FHich A Hidl g, o198 UIHT el Fa-i &HH &l ST 8

Y |I: B2R Fehe & @1 I51 § UehdT ¢ Hiifeh 3= &9 U &t 100°C & e aram = W 39e- &1 81

U Il TEhs o Hex o SAf-aIita 0 Sa & SoHT R0 &Y &% & 961 &di &, forae @11 a9l | oehaT &1

IR ZU Y ey A @ wF a1/ ag g/8?
Only Il and IlI are correct
chad || S 11l HEl 8
AllL 11, and 11l are correct
gt 1, 1 SR TG E
Only | and Il are correct
hadl | R | FET &
Only | and Ill are correct
haet | ofiT Il TgT &

Q.No: 66  What is the name of the satellite launched by ISRQ's GSLV-FO9 that was a gift to SAARC nations?
FHU o SITAUAE!-Th09 gRT HETT IUUE o ATH 4T & il 9ich( SAARC) 1Y i SUER 17

GSAT-9

Sie-9

GSAT-19

Sie-19

INSAT-3DR

Fde-32eR
IRNSS-16G

HATEARYATHTE- 15T
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Q.No: 67 Which of the following is NOT TRUE about Tribhuvandas Patel?
Raed udd & aR ¥ Fefiiad § & o1 @1 wua a8t 781 87

He was the founder of the Kaira Milk Union (Amul).

T & e g (enge) & e ¥

Lok Sabha has passed a bill to setup Tribhuwvan Sahkari University in Gujarat.

R A o 1 Ryad agan Ryfaeney wnfta +4E & o o o o = R g

He was awarded Padma Vibhushan for his social service.

Ikl GHTS G4 & felg 3 U=t fogeor @ [efAg femar mar o)

He was awarded Ramon Magsaysay award for community leadership.

3% ANETRe A9 & Ay W 8 (R @ g T

Q.No: 68 How did the administrative roles of rajas differ from those of zamindars under the Mughal system

AT RMTE AGT B s Sl nemEte Y sHlert ¥ fhg aar 9 of?

Zamindars were subordinate tax officers under the rajas, appointed directly by the emperor.

rfier wremalf & aref s w aifder g1 &, o8 Tome g e Frgaa feman Simar am)

Rajas and zamindars performed identical roles but differed in their religious affiliations.
Il AR A TER U St et a3, wifes 3t anfifes argard e o)
Rajas governed broader regions and held a higher status, while zamindars primarily managed land revenue collection.

T AT 81 T AT i O 3R 3= gulf @ ¥, Tidfeh oHiaR I U § Y Ied JUg 61 Hee ad 9|

Zamindars exercised complete political control, whereas rajas held only ceremonial titles.

wHierRt & ur guf Ireifaes s ur, sefes el & o dee sftaaiies surfaar o

Q.No: 69 Read the following statements and choose the correct option:
Statement 1: Karnataka has the highest elephant population among Southern States.
Statement 2: A high number of juvenile elephant deaths in Karnataka are due to Elephant Endotheliotropic Herpesvirus (EEHV).

F=fefEa Syl &t ud ofik 98l f[dshey 74
wy 1: gferoft vout & eafeas o giftt 6 e e afdws g1
YA 2: FATeeh J fharie g1yl b1 5 &1 Ush 931 SR Yleithe Usidfergigiie gdiaam<s (EEHY) 81

Only Statement 1 is correct

Fad hYT 1 FE e

Only Statement 2 is correct

A FYT 2 T8 8

Both Statements 1 and 2 are correct

U 1 3T 2 g1 gt &

Neither Statement 1 nor 2 is correct

AdFu 1 dRAE 2 T g

QNo:70  In the lac operon model, what is the primary role of the allolactose molecule?
ek SITCRIA Aisa | Yeioigetst ofU] hi 7 fH<h &1 gidl 87
It functions as an inducer, binding to the repressor protein and inactivating it.

I Ueh U oh ©0 J T & g, RIR UiEH § Sgas 39 Fiehg ax dar gl

It acts as a corepressor, binding with the repressor protein.

U U ohl-RUER & U A & oal ¢ ok RUER UidH 4 o218

It binds to the promoter to initiate transcription.

g U ¥ IS feluichd TR Heal g

It directly codes for the enzymes involved in lactose metabolism.

g €Y et Ta=d | AN UAISHT S g TS Sedl gl
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Q.No: 71  Match Column A (Denudational Processes) with Column B (Their Driving Forces/Energy):

Column A (Denudational Processes) | Column B (Their Driving Forces/Energy)

A. Weathering 1. kinetic Energy

B. Mass Movement 2.Gravitational / Molecular Stresses /Chemical Actions
C. Erosion and Transportation 3. Gravitational Force

D. Denudation (overall process) 4, External Forces acting on Earth surface

Ty A (et aferamd) =t Tt B (ST e arfaergl /o) & e &%

W g(faeraneres nfzrard) | =Y & (SR i arfaemt/wt)

'q_am&m 1. Tfdst Sl
. o arete ﬁ.m;’amﬁmmfmmﬁmﬁﬂm;
i, Fera R uRaE 3. TRy T

) HATSIEA (T uizhan) - 4. gt &1 Gde U= SR A dret 18] al
A-2,B-3, C-1, D-4
g-2, -3, #-1, F-4
A=2,B=1,C-3, D-4
g-2, #i-1, §-3, -4
A-4, B-3, c-2, D-1
T-4, -3, H-2, -1
A=1,B=2, C-3, D-4
T-1, §1-2, #-3, 8-4

Q.No: 72 Which entities are eligible to register under the FCRA?
faeaft sisem (AfFase) 9 ay (Fera) & iaile feha GeuTafl &l USiiervur ! UTHr 0T g2
Political parties

TS &l

Government departments

TR faamT

Only private companies

Shae it suf-rar

Section 8 companies, trusts, and societies
HRT 8 Shull, gEe ik afAfar

Q.No: 73 What evidence supports the Big Bang theory of universe origin?

FgliS ol I o fonT <1 Riegid o1 992 i 91 wieg Sear 87
Sunspot cycles

g ol 9
Redshift of galaxies

QTR <R wTe e
Solar wind

R ua-
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Q.No: 74 'Who was the Chairman of the "Advisory Committee on Fundamental Rights, Minorities, and Tribal and Excluded Areas" in the
Constituent Assembly?

HiguT 91§ "Hiferd AYRR, AHeUH@Ih U1 S U dfgthd a1 ddt Heigar Afffa” & srwet S 97
Eardarvallabhbhatparel

Jawaharlal Nehru

SCIRGIGERS
K.M. Munshi

.o, Haft
Dr. B.R. Ambedkar
31, 1.9, arEgaY

Q.No: 75  Match the following Schedules of the Indian Constitution with their respective features:

Column A (Schedule) | Column B (Feature)

1. First Schedule a. Allocation of powers and responsibilities between Union and States
2. Third Schedule b. Forms of Oaths or Affirmations
3. Fifth Schedule c. Administration and control of Scheduled Areas and Tribes (excluding NE states)

4. seventh Schedule | d. Names of the States and Union Territories and their territorial jurisdiction

wReT Wi & Frafafes syt o a6 wdfta Rt @ fem fifeg:
-FNA[G*ET“) .F?‘“B[ﬁg -
1. ST | 5 e ofie el & e AfERe ok SweaiiE i ase
2. gdm ot | b, sy @ ufaEE & UaR
3. e o c. agHfaa & ofl Senfaat &1 wrme ofR T (gEh ol 6 siga)

4. gradi S | 3. wrew afte F il wdaif & A ofik g ity after g

1-b, 2-d, 3-a, 4-c
1=b, 2-d, 3-a, 4-c
1-a, 2-c, 3-b, 4-d
1-a, 2-c, 3-b, 4-d
1-c, 2-3, 3=d, 4-b
1=-c, 2-3, 3=d, 4-b
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Q.No: 76 | Consider the following statements comparing the Simon Commission (1927) and the Nehru Report (1928):
1. The Simon Commission was boycotted by Indian political parties primarily due to its all-Indian composition.
2. The Nehru Report proposed complete independence for India as its immediate objective.
Which of the above is/are correct?

AFHA T (1927) R Age Ruté (1928) &t g1 wxd gu Fefeiiaa suHT o2 fa=r Hifsr:

1. HIZH FHtA &1 YRATY Iet-ifdes geil gR1 ge0d: 38 ARG YR WEU & Rl 9igshR foar mar ul
2. Ag® RUle = vRa & forg guf w@d=ar &t a1ue Arehiferes 3234 & ¥ § wRdtiad foear o1

W H O &1 1/ uet g/&?

Neither 1 nor 2

qar1 siRAg2
1 only

Q.No:77  NMame the state in whichThe Bhitarkanika Mangroves are located?
Wi w AT o g T § WA &2
Odisha

affaar
Andhra Pradesh

TR TR
Tamil Nadu

dfterTg

West Bengal
uigH e

QNo: 78  Which of the following pairs is correctly matched?
F=fofea & @ =19 @1 g ot gifea 82

Mission Shakti = Startup grants for rural men

e fa - ardior geul & fog widam seM
PM-AAGY - Railway safety in backward areas

PM-JANMAN = Urban housing for tribals

dhon-aee - enféanfadt & fog aed amam

QNo:79 | Which of the below statements is/are correct?
Statement 1: India supports connectivity through the North-South Transport Corridor.
Statement 2: The corridor strengthens India’s trade with the Pacific Islands.

12 Ry Ty el A @ = O ad &/82
TY 1: WIRA -G (&80T UREg Mo & AT § Wudh Sl Ire+ &dl g1
FHYA 2: g MR U0id £1Y THg & 1Y ¥R & AMUR i Joidd &l gl

Only Statement 2 is correct

FAA RYT 2 T8 8

Only Statement 1 is correct

had hY- 1 FEl g

Both 1 and 2 are correct

1 3R 2 g+t wgl 8

Neither 1 nor 2 is correct
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Far1 eiRad2adr 2

Q.No: 80 With whose participation did the Anushilan group join forces when the Bengal Congress broke up into two factions after the death of
CR Das?

.3, 21 1 Jg F 918 5 ST Swind &t e # g2 18 af arafiers Tag 3 et vriierd @ gy femar?
Ganesh Ghosh

T T
Surya Sen

@ &

JM Sengupta

QA FT

Subhash Bose
gHIYy 1Y

Q.No: 81 The "emoluments, allowances, and privileges of constitutional officeholders" are governed under which Schedule of the Indian
Constitution?

"gerenies eTideRial T Iuwfdal, W ofi fAsarider " W d@fdym 6 faa ey & sidtid wifa g &2
Fifth Schedule
et s
Seventh Schedule

e gt

Eleventh Schedule

aREdl gt

Second Schedule

T g

Q.No: 82 | What was the main occupation of the majority of the Indian population during the period immediately after independence (around
1947)?
AT & i 915 (T0THT 1947) & gl & SR WRedlg S8l & Sghd ol 4 Aa8r 1 uT?

~.C] £}

Information Technology

T Wit

Manufacturing

faf-mior

Services

garg

Q.No: 83 How many total medals did India win at the International Shooting Sport Federation (IS5F) Rifle/Pistol World Cup 2023 held in
Bhopal?

i | amaifoia siaeiiia Famars @ Aeey (Msuaaus) I5hd/ fired fay &u 2023 # wRa A $d foas Uge sl ?

‘
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Q.No: 84  The Vesara style of temple architecture is a combination of which two styles?
AR et fone &1 o et @ affes §2

Gandhara and French

TR off iRl mva

Magara and Gothic

AR 31 M delt

ravidian and Nagar

RILCE hl
Mughal and Dravidian

T U gfdg et o1 afiso

Q.No: 85 Whom Hiuen Tsang called "one of the four lights of world", who's also called Indian Einstein?
A=A oRg "fay & IR ueid § © o el o, O 9RA g off &gt A g7
Charak

¥ch
Vasumitra

TG

Ashvaghosha

ey

MNagarjuna

‘%

QNo: 86  Which of the following sectors contributes the most to India's GDP?

IR <h Tehel e 301E (GDP) # Haffdies aives & arell 85 sH-a1 82

Agriculture

E2l

Manufacturing

e e )

Mining
ECRE]

Q.No: 87  Earth remote sensing satellites (EOS) are primarily designed to:

qedl Pe¥ TdeA IUE (E0s) geema: fmafeifea & o fEomg= g g &:

Drill inta Earth's crust for mineral samples

wfa FAf & forg gt 6t uust | fga wen

Monitor weather, land use, and environmental changes on Earth
Tedt 0% HieH, A I 3R yataxon uREdat o AR

Build underground transport systems

ffTd uRagH ool a=g

Study the internal structure of Earth using seismic waves

AU T ol SUGNT Thich YT dhi SidRes TXAAT ol T e

Q.No: 88 | What is the maximum time limit for completing the trial of a case under the POCSO Act?

uret gy & ofarfa fohdlt amet & =aifaes fAueE &t arfderan oug-iar Far 87

6 months
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ELRGE]

3 years
A ad
2 years
o ad
1 year

CAC L

Q.No: 89 Which discretionary power allows a Governor to reserve a bill passed by the state legislature for the consideration of the President?

FA T e afe TsguTe &t Ty Ryrrdes g oG das S apuld & e oy we i srnfa &t £

To send a report to the President for the imposition of President's Rule.

FUT ATE A1 @A o forg TFUfd i KUt dem

To reserve a bill for the President's consideration.

forett fadoes =t Tpufa & fame smfera e

To grant parden in certain cases.

O A J &HT WM T

To summon, prorogue, and dissolve the state |egislative assembly.

Y U 9T &6 o1, QM A1 R 711 e

QNo:90  Which of the following statement is incorrect regarding global indices as of July 20257

ors 2025 9 3 gawia! & 9=9 8 Fefafaa § & o9 91 FaF e 7
The World Happiness Report 2024 highlights social support, life expectancy, and GDP per capita as key happiness factors.
sy woran ROt 2024 & qmnieie g, st uanen ok ufd safed Gae 9ie 3T sl U9=dl & UHE Rl & &4 § Wifchd
T gl
AQI consistently above 200 signals general health risks and reqguires urgent policy action.

AQ| T TR 200 ¥ FUR 511 T W FIH &1 ohd g 3R 395 [0 dehret AifaTd FeaTs &l Agsaedr gl

Despite being discentinued, the Ease of Doing Business report remains influential for investors assessing startup procedures.

2 g o dracle, SHadr e # e Hedt Ruté werdara ufeharai i Jedie & aret Fderent & forg wmaenedt &+ g2 g1

Arise in GNI per capita alone can significantly improve HDI, even with falling life expectancy and education.

Ui =afad dehet AET Mg A ghg A g A [Aehra gadhien # IeviaHg GUR 81 Gehdl &, 9 81 siia= Uaen 3 e | fRrae gt @l gl

Q.No:91  What is the purpose of the 'Beti Bachao Beti Padhao' scheme?

"SET Tt ot Ut T T exg T g ?

aving and educating the girl chil

T
Women's health insurance

Aigar @y ftar

Employment for women

AigeATaHt & g AR

Financial support for girl's marriage

wEh! &t 2T & fog f<fg ggmar

Q.No:92  Which of the following is the correct sequence in the life cycle of a star like the Sun?

Td S8 aR & Sited = § FHeferiad § @ o 9 se 9l 8?

Protostar — White Dwarf — Red Giant — Main Sequence

UICER ~ &d &1 — 9o gFd — H3 AfehA
MNebula — Red Giant — Main Sequence — White Dwarf
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AGAT — Wl aFd — & AERA — WG AT
Main Sequence — Red Giant — White Dwarf

& 3[HH — el &1d — dthe sl
Red Giant — Protostar — White Dwarf
el g9 — W — Othg -1

Q.No: 93 A conductor of length L and resistance R is cut into two equal halves. These two halves are then connected in parallel. Find the
equivalent resistance of this parallel combination?

#arg L 3R Ui R 916 Ueh ek i &1 SX1E% WRN H el Fa7 g1 {6 39 1 07 @ weTR o § S8 9 §1 39 S 9aTe @
geu vlasiy 91d Shifag)

Q.No: 94 Which of the following states has the lowest population in India, according to the 2011 Census of India?

qRd i 2011 6! SFHIUHT & SER, FEfelEa | 9 fh ey 6l S8 9Rd § 994 &1 87

Odisha

affsam
Punjab

UEIC!
Madhya Pradesh
e TR

Q.No: 95  During the period of 1947-1990, India's trade policy was largely characterized by:
1947-1990 & Y & R R &l AR AT gera: Fefeaa o

An inward-looking strategy emphasizing import substitution and protection of domestic industries.

SATTTA UIARITOA 3R T3] Il 2 TR&T01 R @R & diefl Yek siaadt o)

A policy of free trade with minimal government intervention in international transactions.

ARIE -8 # YAdH TARI gEIaU o H1Y ekl ATUR i Hifed|

A liberal import policy aimed at providing consumers with a wide range of goods.

FER gTd AT &1 Ieea IuiaTst Sl ST UeR S aegy Jueed &R Bl
An aggressive export-oriented strategy focused on global competitiveness.
Affe uforyl or Ff=a U smerme Faidge ol

Q.No: 96  Which of the following is a characteristic feature of meristematic tissues in plants?

Ffafaa & 8 & @ urdl # AR AR S Saew! 6t ges fafare Rguar 82

Large vacuoles and thick cell walls

=g RiTerTy ofR AtET sRiferr A

Absence of nucleus and presence of lignified walls

TifiYes &t U ok RifiwEe el i Suff

Actively dividing cells with dense cytoplasm and prominent nuclei
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T ifAehiged 3R W Fseh ardll Ufeha &0 4 frfoa g+ arell Fifderd

Dead cells that provide mechanical support

A SRITRAHIY ST Al FEEaT HaH el §

QNo:97 | What does the “invisible hand’ concept, as proposed by Adam Smith, primarily signify?

e [y gR1 udifad ‘sreed g1y’ JTURUN HEgd: 1 a0l g2
Control of monopolies
TepIIehR U= FaaT
Government control in markets
TR # TR =0

Market equilibrium achieved via self-interest

@Y & A1H 9 U dNR dqe

International trade regulation

SRIFY R &g

QNo:98  Which of the following High Courts has jurisdiction over more than one state?

F=fefea ¥ 4 v 3= e &1 S8R Uek O afdes el oe g7

Kerala High Court

el 3= T
Guwahati High Court

AR F= <y

Delhi High Court

el I=7 =gmaTeg
Patna High Court

&A1 3=d gidmetd

Q.No: 99 Which of the following correctly matches the population growth phase in India with its key characteristic?
frfafEa § 9 & 91 YRa # SHEE i 9% i 396! WHE [ud & 98 &7 9 5 @11 g7
Phase IV (Post-1981) - Sudden increase in fertility rate due to migration

207 |V (1981 o 918) - UDTH o hIRUI Usl=4 &2 H S dig
Phase 111 (1951-1981) - Populatien explosion caused by falling death rate and high fertility

=7 111 (1951-1981) - g =3 # fiRiae ok 3= U= emaT & ol s faame
phase | (1901-1921) - Rapid population explosion due to low mortality and high fertility

=07 | (1901-1921) - & g & R I=F U= &A1 & SRUT g ST [GThie
Phase 11 (1921-1951) - High mortality rate and declining birth rate

=207 11 (1921-1951) - I=9 §g & 3R gl &1 &2

Q.No: 100  Which of the following is an erosional landform created primarily by river action?

Ffafas § @ o @ g w0 9 148 v gr1 AT sriReATaTeR - 82
Maoraine

HH
Delta

ol
Gorge
Tt
Levee

Gl
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PART - C (English I.anguage and Comprehension)

QNo: 101 Which sentence contains a word that is spelled incorrectly?

The actors had a final rehearsel before the big show.

he soldier jumped out of the plane using a parachute

The students gathered together in the assembly hall.

She carefully placed the vase on the shelf.

Q.No: 102 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
In the age of endless options—from streaming services to social media platforms—modern individuals face what psychologists call
“decision fatigue.” Unlike earlier generations who had limited choices, today’s youth are constantly required to decide: what to
watch, whom to follow, what to share, and how to respond. While freedom of choice is often celebrated, too many choices can lead to
stress, dissatisfaction, and even paralysis. Ironically, abundance can become overwhelming. Algorithms, designed to predict
preferences, often narrow exposure rather than broaden it, creating digital bubbles. People may feel in control, yet their choices are
subtly shaped by unseen patterns. Over time, the constant need to choose can drain mental energy, leaving individuals anxious or
indifferent. True digital freedom may lie not in limitless options, but in mindful engagement and setting personal boundaries.
Recognising when to choose—and when to step back—could be the new wisdom of the connected age.

What is the main issue discussed in the passage?

Overuse of mobile apps
Stress caused by excessive digital choices

Lack of internet literacy

Q.No: 103 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
In the age of endless options—from streaming services to social media platforms—modern individuals face what psychologists call
“decision fatigue.” Unlike earlier generations who had limited choices, today's youth are constantly required to decide: what to
watch, whom to follow, what to share, and how to respond. While freedom of choice is often celebrated, too many choices can lead to
stress, dissatisfaction, and even paralysis. Ironically, abundance can become overwhelming. Algorithms, designed to predict
preferences, often narrow exposure rather than broaden it, creating digital bubbles. People may feel in control, yet their choices are
subtly shaped by unseen patterns. Over time, the constant need to choose can drain mental energy, leaving individuals anxious or
indifferent. True digital freedom may lie not in limitless options, but in mindful engagement and setting personal boundaries.
Recognising when to choose—and when to step back—could be the new wisdom of the connected age.

What does the author imply about algorithms?
They always give better choices
They expand one’s interests
They limit exposure to diverse content

They reduce online ads
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Q.No: 104 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
In the age of endless options—from streaming services to social media platforms—modern individuals face what psychologists call
"decision fatigue.” Unlike earlier generations who had limited choices, today’s youth are constantly required to decide: what to
watch, whom to follow, what to share, and how to respond. While freedom of choice is often celebrated, too many choices can lead to
stress, dissatisfaction, and even paralysis. Ironically, abundance can become overwhelming. Algorithms, designed to predict
preferences, often narrow exposure rather than broaden it, creating digital bubbles. People may feel in control, yet their choices are
subtly shaped by unseen patterns. Over time, the constant need to choose can drain mental energy, leaving individuals anxious or
indifferent. True digital freedom may lie not in limitless options, but in mindful engagement and setting personal boundaries.
Recognising when to choose—and when to step back—could be the new wisdom of the connected age.

What paradox is presented in the passage?

Choice |eads to control but also exhaustion

Technology helps only the rich
More apps mean less productivity

Less data brings more security

Q.No: 105 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
In the age of endless options—from streaming services to social media platforms—modern individuals face what psychologists call
"decision fatigue.” Unlike earlier generations who had limited choices, today's youth are constantly required to decide: what to
watch, whom to follow, what to share, and how to respond. While freedom of choice is often celebrated, too many choices can lead to
stress, dissatisfaction, and even paralysis. Ironically, abundance can become overwhelming. Algorithms, designed to predict
preferences, often narrow exposure rather than broaden it, creating digital bubbles. People may feel in control, yet their choices are
subtly shaped by unseen patterns. Over time, the constant need to choose can drain mental energy, leaving individuals anxious or
indifferent. True digital freedom may lie not in limitless options, but in mindful engagement and setting personal boundaries.
Recognising when to choose—and when to step back—could be the new wisdom of the connectad age.

According to the author, what may be a solution?
Faster internet plans

Reducing social media apps

indful engagement and limit

Following more influencers

Q.No: 106 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
In the age of endless options—from streaming services to social media platforms—maodern individuals face what psychologists call
"decision fatigue.” Unlike earlier generations who had limited choices, today’s youth are constantly required to decide: what to
watch, whom to follow, what to share, and how to respond. While freedom of choice is often celebrated, too many choices can lead to
stress, dissatisfaction, and even paralysis. Ironically, abundance can become overwhelming. Algorithms, designed to predict
preferences, often narrow exposure rather than broaden it, creating digital bubbles. People may feel in control, yet their choices are
subtly shaped by unseen patterns. Over time, the constant need to choose can drain mental energy, leaving individuals anxious or
indifferent. True digital freedom may lie not in limitless options, but in mindful engagement and setting personal boundaries.
Recognising when to choose—and when to step back—could be the new wisdom of the connected age.

What is the tone of the passage?
Sarcastic
Cautionary

Indifferent

Aggressive
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Q.No: 107 Read the passage and answer the questions:

Much of the discussion in this book is about biases of intuition. However, the focus on biases does not mean that intuition is always
wrong—far from it. Most of the time, the quick judgments of our intuitive mind, what | call System 1, are accurate enough to help us
navigate the world. This system operates automatically and quickly, with little or no effort.

On the other hand, System 2 is the slower, more deliberate mode of thinking. It allocates attention to effortful mental activities, such
as solving complex problems or evaluating logical arguments. System 2 is more methodical and rational, but it is also lazier—it
prefers to endorse the intuitions of System 1 rather than guestion them.

This division of labour works well most of the time, but it also creates predictable errors. Because System 1 is prone to biases and

snap judgments, we often make decisions that are not as rational as we believe. Understanding these two systems can help us
recognize when we are relying too much on intuition and when we need to engage in more deliberate thinking.

Identify the sentence with correct subject-verb agreement:
The quick judgments of our intuitive mind, what | call System 1, is accurate enough to help us navigate the world.
This division of labor work well most of the time, but it also creates predictable errors.
Understanding these two systems can helps us recognize when we are relying too much on intuition.

System 2 allocates attention to effortful mental activities, such as solving complex problems or evaluating logical arguments.

Q.No: 108 Read the passage and answer the questions:
Much of the discussion in this book is about biases of intuition. However, the focus on biases does not mean that intuition is always
wrong—~far from it. Maost of the time, the quick judgments of our intuitive mind, what | call System 1, are accurate enough to help us
navigate the world. This system operates automatically and quickly, with little or no effort.
On the other hand, System 2 is the slower, more deliberate mode of thinking. It allocates attention to effortful mental activities, such
as solving complex problems or evaluating logical arguments. System 2 is more methodical and rational, but it is also lazier—it
prefers to endorse the intuitions of System 1 rather than guestion them.
This division of labour works well most of the time, but it also creates predictable errors. Because System 1 is prone to biases and
snap judgments, we often make decisions that are not as rational as we believe. Understanding these two systems can help us
recognize when we are relying too much on intuition and when we need to engage in more deliberate thinking.
Choose the sentence that correctly uses a relative pronoun:

System 1 is the intuitive mode of thinking, who operates autematically and quickly.

The biases, which influence our judgments, often lead to predictable errors.

Understanding the two systems, whom have different roles, is crucial for decision-making.

The effortful mental activities whose System 2 performs include solving complex problems.
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Q.No: 109 Read the passage and answer the questions:

Much of the discussion in this book is about biases of intuition. However, the focus on biases does not mean that intuition is always
wrong—far from it. Most of the time, the quick judgments of our intuitive mind, what | call System 1, are accurate enough to help us
navigate the world. This system operates automatically and quickly, with little or no effort.

On the other hand, System 2 is the slower, more deliberate mode of thinking. It allocates attention to effortful mental activities, such
as solving complex problems or evaluating logical arguments. System 2 is more methodical and rational, but it is also lazier—it
prefers to endorse the intuitions of System 1 rather than guestion them.

This division of labour works well most of the time, but it also creates predictable errors. Because System 1 is prone to biases and
snap judgments, we often make decisions that are not as rational as we believe. Understanding these two systems can help us
recognize when we are relying too much on intuition and when we need to engage in more deliberate thinking.

What is the meaning of the word "deliberate” in the sentence:
"System 2 is the slower, more deliberate mode of thinking."
Accidental
Careful and intentional
Quick and effortless

Biased

Q.No: 110 Read the passage and answer the questions:

Much of the discussion in this book is about biases of intuition. However, the focus on biases does not mean that intuition is always
wrong—far from it. Most of the time, the quick judgments of our intuitive mind, what 1 call System 1, are accurate enough to help us
navigate the world. This system operates automatically and quickly, with little or no effort.

On the other hand, System 2 is the slower, more deliberate mode of thinking. It allocates attention to effortful mental activities, such
as solving complex problems or evaluating logical arguments. System 2 is more methodical and rational, but it is also lazier—it
prefers to endorse the intuitions of System 1 rather than question them.

This division of labour works well most of the time, but it also creates predictable errors. Because System 1 is prone to biases and
snap judgments, we often make decisions that are not as rational as we believe. Understanding these two systems can help us
recognize when we are relying too much on intuition and when we need to engage in more deliberate thinking.

Choose the best synonym for the word "endorse" in the sentence:

"System 2 is more methodical and rational, but it is also lazier—it prefers to endorse the intuitions of System 1 rather than question
them."

Approve
Reject
Criticize

Delay
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Q.No: 111 Read the passage and answer the questions:

Much of the discussion in this book is about biases of intuition. However, the focus on biases does not mean that intuition is always
wrong—far from it. Most of the time, the quick judgments of our intuitive mind, what | call System 1, are accurate enough to help us
navigate the world. This system operates automatically and quickly, with little or no effort.

On the other hand, System 2 is the slower, more deliberate mode of thinking. It allocates attention to effortful mental activities, such
as solving complex problems or evaluating logical arguments. System 2 is more methodical and rational, but it is also lazier—it
prefers to endorse the intuitions of System 1 rather than question them.

This division of labour works well most of the time, but it also creates predictable errors. Because System 1 is prone to biases and
snap judgments, we often make decisions that are not as rational as we believe. Understanding these two systems can help us
recognize when we are relying too much on intuition and when we need to engage in more deliberate thinking.

According to the passage, what is one drawback of System 1 thinking?
It always leads to incorrect decisions.
It requires too much mental effort.
It can be prone to biases and snap judgments.

It completely replaces System 2 in decision-making.

Q.No: 112 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As technology continues to advance, space exploration is no longer limited to astronauts and scientists. In the coming decades, space
could beceme a place for engineers, architects, doctors, and even artists. The idea of working beyond Earth, once considered science
fiction, is slowly becoming a realistic (1) Many countries have already started investing in training programs that prepare
students for space-related fields. These programs not only focus on science, but also build problem-solving and leadership skills.

Working in space will bring its own challenges—long durations, iselation, and technical failures will require (2) preparation.
Yet, the chance to be part of something bigger than oneself is what draws many young minds. With space tourism rising and private
companies joining the race, the job market is expected to (3) However, to succeed in this field, one must stay curious,
adaptable, and (4) In the future, reaching for the stars might not be a dream, but a (5)
(1)

Slirieliniely

option

mystery

illusion

Q.No: 113 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As technology continues to advance, space exploration is no longer limited to astronauts and scientists. In the coming decades, space
could beceme a place for engineers, architects, doctors, and even artists. The idea of working beyond Earth, once considered science
fiction, is slowly becoming a realistic (1) Many countries have already started investing in training programs that prepare
students for space-related fields. These programs not only focus on science, but also build problem-solving and leadership skills.
Working in space will bring its own challenges—long durations, iselation, and technical failures will require (2) preparation.
Yet, the chance to be part of something bigger than oneself is what draws many young minds. With space tourism rising and private
companies joining the race, the job market is expected to (3) However, to succeed in this field, one must stay curious,
adaptable, and (4) In the future, reaching for the stars might not be a dream, but a (5)

(2)

casual
emaotional
intense

frequent
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Q.No: 114 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As technology continues to advance, space exploration is no longer limited to astronauts and scientists. In the coming decades, space
could beceme a place for engineers, architects, doctors, and even artists. The idea of working beyond Earth, once considered science
fiction, is slowly becoming a realistic (1) Many countries have already started investing in training programs that prepare
students for space-related fields. These programs not only focus on science, but also build problem-solving and leadership skills.
Working in space will bring its own challenges—Ilong durations, iselation, and technical failures will require (2) preparation.
Yet, the chance to be part of something bigger than oneself is what draws many young minds. With space tourism rising and private
companies joining the race, the job market is expected to (3) However, to succeed in this field, one must stay curious,
adaptable, and (4) In the future, reaching for the stars might not be a dream, but a (5)

(3)

collapse

decline

compete

Q.No: 115 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As technology continues to advance, space exploration is no longer limited to astronauts and scientists. In the coming decades, space
could beceme a place for engineers, architects, doctors, and even artists. The idea of working beyond Earth, once considered science

fiction, is slowly becoming a realistic (1) Many countries have already started investing in training programs that prepare
students for space-related fields. These programs not only focus on science, but also build problem-solving and leadership skills.
Working in space will bring its own challenges—long durations, iselation, and technical failures will require (2) preparation.
Yet, the chance to be part of something bigger than oneself is what draws many young minds. With space tourism rising and private
companies joining the race, the job market is expected to (3) However, to succeed in this field, one must stay curious,
adaptable, and (4) In the future, reaching for the stars might not be a dream, but a (5)
(4)

reliable

silent

proud

stubborn

Q.No: 116 | In the follewing passage, some werds have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As technology continues to advance, space exploration is no longer limited to astronauts and scientists. In the coming decades, space
could beceme a place for engineers, architects, doctors, and even artists. The idea of working beyond Earth, once considered science

fiction, is slowly becoming a realistic (1) Many countries have already started investing in training programs that prepare
students for space-related fields. These programs not only focus on science, but also build problem-solving and leadership skills.
Working in space will bring its own challenges—Ilong durations, iselation, and technical failures will require (2) preparation.
Yet, the chance to be part of something bigger than oneself is what draws many young minds. With space tourism rising and private
companies joining the race, the job market is expected to (3) However, to succeed in this field, one must stay curious,
adaptable, and (4) In the future, reaching for the stars might not be a dream, but a (5)
(5)

mistake

memory

V|

‘

direction
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Q.No: 117 Find the incorrect part of the sentence:
He divided the sweets between his five friends.

He divided

Mo error

the sweets

Q.No: 118 Select the option that expresses the given sentence in Direct to Indirect Speech.
He said, "I have completed the task."

He said that he has completed the task.
He said that he was completing the task.

He said that he completed the task.

e sald that he had completed the task

QNo: 119  What does the idiom ‘To leave no stone unturned’ mean?

Avoid effort

Relax completely

Ignore issues

Q.No: 120  Choose the correct direct speech form of the following sentence.
He asked if | had been aware of the policies of the company.

He said, "Did you be aware of the policies of the company?"

He said, "Were you awared of the policies of the company?"

He said, "Was you aware of the policies of the company?"

e said, Were you aware of the policies of the company?

Q.No: 121 Select the most appropriate option to improve the bold part of the sentence.
He is one of those players who has scored the most goals.

had been scoring
scores

had scored

QNo:122  Arrange the sentence parts:
(a) met (B) his friend (C) at the station (D) Rohit

DCBA
DBAC

DACB
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UABC]

Q.No: 123 Transform the following sentence into active voice.

All the structures built in that area had been demolished due to encroachment.
They had demolished all the structures build in that area due to encroachment.
They had demolished all the structures that were built in that area due to encroachment.

Iihei had demaolished all the structures built in that area due to encroachment_

They had demolished all the structures built in that area due to encroachment by the people.

Q.No: 124  Select the most appropriate option to fill in the blank.
He speaks English ___ than | do.

best

more good

good

Q.No: 125 | In the following question, a sentence has been given in Indirect Speech. Choose the correct Direct Speech form.

The climatologist said that if global temperatures kept rising, sea levels would threaten major coastal cities.

lobal temperatures kept rising, sea levels will threaten major coastal cities.”

The climatologist said, “If global temperatures had kept rising, sea levels would have threatened major coastal cities.”
The climatologist said, “If global temperatures kept rising, sea levels would threaten major coastal cities."”

The climatologist said, “If global temperatures keep rising, sea levels threaten major coastal cities.”

QNo: 126  What does the idiom ‘On cloud nine’ mean?

Lazy
Very angry
Confused

Q.No: 127 Which sentence contains a word that is spelled incorrectly?
The weather forecast mentioned a change in meterological patterns.
He is passionate about anthropology and human cultures.

The scientist wrote a paper on marine biology and its ecosystems.

he Is studying zoology at the university to become a biologist

Q.No: 128  Select the option that expresses the given sentence in Direct to Indirect Speech.
He said, "I don't like spicy food."

He said that he hadn't liked spicy food.
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He said that he likes spicy food.

e said that he didn't like spicy food

He said that he doesn’t like spicy food.

QNo: 129 Select the synonym of Perfunctory.
Diligent

Careless

Painstaking

Detailed

Q.No: 130  Choose the option that completes the sentence using the correct spelling.
The newly fallen snow transformed the landscape.

magicaly

magically

magickelly

majicelly

Q.No: 131 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

| visited a zoo last weekend.P: The lions were resting under trees.Q: | saw many wild animals there.R: Monkeys were swinging on
branches.S: The elephants were eating sugarcane.b. It was a fun and learning experience.

QSPR
P U
PR3Q

QPSR

Q.No: 132 Select the option that expresses the given sentence in Direct to Indirect Speech.
She said to me, "Would you like some coffee?”

She asked that | would like some coffee.

She asked me would | like some coffee.

She offered me some coffee.

Q.No: 133 Select the option that expresses the given sentence in Direct Speech.
She said that she was learning French.

She said, "I learn French."

he said, "I am learning French.

She said, "I was learning French."”
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She said, "I have learned French."

Q.No: 134 Select the most appropriate option to improve the bold part of the sentence.
He insisted to go home.

going on
upon going

on going

Q.No: 135 Select the correct passive form of the given sentence.
"They might be repairing the engine now."

nhe engine might be repaired now.

The engine may be repairing now.
The engine might be being repaired now.

The engine might repaired now.

Q.No: 136  Find the incorrect part of the sentence:
Meither of the two brothers are trustworthy.

Meither of the two brothers
are

trustworthy

No error

Q.No: 137 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

A triangle has three sides.P: The angles can be equal or different.Q: It is one of the basic shapes.R: Every triangle has three angles.S:
The sum of angles is always 180 degrees.6. Triangles are important in geometry.

PR3Q
RPQS

QRPS

Q.No: 138 | Choose the antonym of 'Lax’.

Stack

Careless

Loose
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Q.No: 139 Rearrange the parts of this sentence:
(A) rising inflation (B) causes difficulties {C) for middle-class families (D) everywhere

BCAD

BACD

BACD

Q.No: 140 Arrange the sentence parts:
(&) every week (B) we (C) play (D) cricket

SAL L

BADC
DACB

CADB

Q.No: 141 Choose the one which can be substituted for the given sentence.
A person who writes books

Publisher
Editor
Orator

Authar

Q.No: 142 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Solar energy is gaining popularity worldwide. P: It is available in abundance. Q: This makes it a sustainable option. R: Unlike fossil
fuels, it doesn't emit harmful gases. S: Also, it reduces dependency on non-renewable sources. 6. Hence, governments are investing
in solar technology.

PR3Q

QPSR

PQRS

Q.No: 143 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Science fiction fuels technological imagination. P: It inspires young minds to innovate. Q: Many past inventions were once fictional
ideas. R: It encourages thinking beyond limits. S: Stories often explore future societies. 6. Thus, sci-fi has real-world influence.

PQRS
SRQP
QPRS

RQPS
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Q.No: 144  Choose the part of the sentence that contains an error:
The child is afraid from the dark.

The child is
the dark
No error

airald {rom

Q.No: 145  Choose the part of the sentence that contains an error:
You should avail of every opportunity.

every opportunity

Mo error

You should

Q.No: 146 Select the option that expresses the given sentence in Direct Speech.
She told us that she had not seen the movie.

She said, "1 didn't see the movie."

he said, "I haven't seen the movie.
She said, “I had not seen the movie."”

She said, "She hadn’t seen the movie."

Q.No: 147 Select the most appropriate homonym.
He will bat for his friend's innocence.

Criticize
Play cricket

Hit

Q.No: 148 Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "Can | ask a question?"

he asked whether she could ask a question

She asked whether she might ask a question.
She said whether she could ask a question.

She asked whether she can ask a question.

Q.No: 149  Select the correct active form of the given sentence:
"The assignment work has been successfully finished ahead of time by Pragna.”

Pragna has finished her assignment work ahead of time.

ragna has successtully finished her assignment ahead of time

Pragna have successfully finished her assignment work ahead of time.
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Pragna has successfully finished her assignment work ahead of time.

Q.No: 150 | Rearrange the parts of this sentence:
(A) before the heavy rains (B) the villagers (C) repaired the damaged bridge (D) with the help of officials

DACB

BACD

ABCD

Q.No: 151 | Choose the antonym of ‘commendable’:
Motable
Blameworthy

Laudable

Admirable

Q.No: 152 Select the most appropriate option to improve the bold part of the sentence.
| am used to eat late at night.

for eating
eating

in eating

Q.No: 153 Select the correct passive form of the given sentence.
"The director should announce the results today."

The results should being announced.

he results should be announced toda

The results should be announce today.

The results should have been announced.

Q.No: 154 | Select the synonym of Exaggerate.

Minimize
Suppress

Understate

Q.No: 155 Arrange the sentence parts:
(a) the headmaster (B) for his punctuality (C) praised (D) the student

ABCD

ADCB
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BDCA

QNo: 156 Select the synonym of Gratify.

0
< |

Insult
Displease

Annoy

Q.No: 157  Rearrange the parts of this sentence:
() for higher education (B) many students (C) prefer to go abroad (D) these days

BDAC
BADC

BACD

Q.No: 158 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Ravi opened his new geometry box. P: It had a ruler, compass, and protractor. Q: He used it in his maths class. R: He showed it to his
friends. S: It was made of metal and looked shiny. 6. He liked his new box very much.

SRPQ
PSRQ
PRQS

PR3Q

Q.No: 159  Select the most appropriate option to improve the bold part of the sentence.
Hardly | had entered the room when the phone rang.

ardly had | entere

Hardly was | entering
| had hardly entered

| hardly had entered

Q.No: 160  Select the most appropriate option to fill in the blank.
His actions are incompatible his words.

for

with

‘
s
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Q.No: 161 Select the most appropriate homonym.
The judge will pass the verdict.

Cross

Fail

shift

Q.No: 162 | Choose the antonym of ‘assert”;
Deny

Maintain
Proclaim

Declare

QNo: 163 Choose the correct meaning of Idiom "Flog a dead horse".
Beat an opponent unfairly

Repeat a settled argument

hase an impossible goa

Waste time on a lost cause

QNo: 164  Select the synonym of 'Carnal’.
Demand
Greed

Jealousy

Earthly

Q.No: 165  Select the correct active form.
"Was your phone being charged by someone?"”

Has someone charged your phone?
Did someone charge your phone?

Was someone charging your phone?

s someaone charging your phone?

Q.No: 166 Choose the correct sequence to form a meaningful sentence:
{A) has a long (B) India (C) and rich (D) cultural histery

BDCA
BCAD

SALL

BADC
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Q.No: 167  Choose the one which can be substituted for the given sentence.
The murder of a king

Regicide
Patricide

Fratricide

Homicide

Q.No: 168 Select the most appropriate option to fill in the blank.
The ___ of the movie was unexpected.

ends
ending

ended

Q.No: 169  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "1 had eaten breakfast."

She said that she ate breakfast.

She said that she would have eaten breakfast.

She said that she has eaten breakfast.

QNo: 170  Select the correct active form of the given sentence.
"The dining hall was being thoroughly cleaned by the workers."

The workers were thoroughly cleaned the dinning hall.

he workers were thoroughly cleaning the dinning hall

The workers had thoroughly cleaning the dinning hall.

The workers was thoroughly cleaning the dinning hall.

QNo: 171 Select the correct passive form of the given sentence.
"The judge is hearing the final arguments.”

The final arguments were heard.
The final arguments has heard.

The final arguments was being heard.

he final arguments are being heard by the judge

Q.No: 172 | Choose the one which can be substituted for the given sentence.
A political disorder and absence of government

Plutocracy

Monarchy
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Anarchyl

Oligarchy

QNo: 173 What does the idiom ‘Barking up the wrong tree’ mean?
Apologizing

Praising someone

i g gy

Succeeding quickly

Q.No: 174  Select the most appropriate option te fill in the blank.
They arrived ___ the airpert on time.

Q.No: 175  Select the most appropriate option to improve the bold part of the sentence.
Itis high time you leave the room.

had left the room
left the room

leaves the room

Q.No: 176 | Choose the antonym of ‘eminent’;

Celebrated
Distinguished

Obscure

Q.No: 177 Select the most appropriate homonym.
The king sat on a throne.

Chair
Rule

Sword

Q.No: 178 Select the most appropriate option to improve the bold part of the sentence.
This session is an improvement rather the previous one.

more good
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very better

over

Q.No: 179 ldentify the part containing a grammatical or structural error:
The father with his sons are arriving soon.

with his sons
No error
The father

are arriving soon

QNo: 180  What is the one-word substitute for “A poem of mourning”?

Ballad

Ode

Sonnet

QNo: 181  Select the correct passive form of the given sentence.
"I will complete the work tomorrow.”

The work will have completed by me.

nhe work will be completed by me tomorrow

The work shall completed by me.

The work is completed tomorrow by me.

Q.No: 182 Choose the correct meaning of the idiom:
'Cut no ice'

Hawve no effect
Create trouble
Be sharp

Stop something

Q.No: 183 Find the incorrect part of the sentence:
The judge ordered the prisoner to hung till death.

Mo error
The judge ordered

the prisoner
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Q.No: 184 | Choose the correct direct speech form of the following sentence.

Simran said that she had been writing a letter to the principal.

Simran said, "I have writing a letter to the principal.”

imran said, '| have been writing a letter to the principal.’
Simran said, "l was being writing a letter to the principal."

Simran said, "l was written a letter to the principal.”

Q.No: 185  Select the most appropriate option to fill in the blank.
The patient was devoid ____ any hope of recovery.

with

0]

Q.No: 186 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, @, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Email has changed modern communication. P: It is faster than traditional letters. Q: Instant messaging is also gaining popularity. R:
Emails allow file sharing and formal contact. S: However, they may lack personal touch. 6. Choosing the right medium depends on
context.

PR3Q
PQSR
RP3Q

QPRS

Q.No: 187 | What does the idiom ‘To grasp at straws’ mean?
To win easily

To try desperate measures

To show courage

To make careful decisions

Q.No: 188 Select the most appropriate option to fill in the blank.
She was credited inventing the device.

for

with

o
‘
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Q.No: 189 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is splitinto four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Computers help us in many ways. P: \Writing reperts is easier. Q: Data is stored safely. R: Meetings happen online. S: Calculations are
done fast. 6. Offices depend on them daily.

PR3Q
QRPS
PQRS

PQSR

Q.No: 190  Transform the following sentence into active voice:
Were you instructed by them how to fill in the form?

Did you instruct them how to fill in the form?

Was he informed how to fill in the form by them?

Were they informing you how to fil in the form?

id they instruct you how to fill in the form?

Q.No: 191  Spot the misspelt word.
Acheived

Accessible

Committee

Accommodate

Q.No: 192 Select the most appropriate option to improve the bold part of the sentence.
The teacher asked that who was absent.

(that whom
which student
who

whaose

Q.No: 193 Select the most appropriate option to fill in the blank.
He congratulated me my suCCess.

of
of

at

Q.No: 194 | In the following question, a sentence has been given in Indirect Speech. Choose the correct Direct Speech form.

The analyst stated that inflation could have been controlled if monetary policies had been revised earlier.
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The analyst stated, “Inflation could have been controlled if monetary policies had been revised earlier.”
The analyst stated, “Inflation could be controlled if monetary policies were revised earlier.”

The analyst stated, “Inflation had been controlled if monetary policies had been revised earlier.”

he analyst stated, "Inflation can be controlled if moneta olicies are revised earlier.

QNo: 195  Choose the correctly spelt word:

ntreprenure

Entroprenure
Entrepreneur

Enterprenuer

Q.No: 196  Select the correct active form.
"Why was the match postponed by the organizers?"

Why have the organizers postponed the match?

why do the organizers postpone the match?

hy did the organizers postpone the match:

Why are the organizers postponing the match?

QNo:197  Arrange the sentence parts:
(A) read (B) the instructions (C) before filling (D) carefully

DAL H

BACD
BCAD

BDCA

Q.No: 198 Select the most appropriate homonym.
The old man could barely hear.

Hair

Smell

See

Q.No: 199  Select the most appropriate option to fill in the blank.
The boy was punished ____ his disobedience.

in

™

at
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Q.No: 200  Find the misspelt word.

»] q 1
excellent
existence

Belligerent
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